DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &




x?—6x+A=(x+B)*> 4, AB o] 27

@® -36 @—27 ® 27 @ 36 ® 216
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(x+B)2=x>+2BxB>=x*-6x+A
2B=-6, B=-3
B>=(-3)2=9=A
SAB=9x(=3)=-27
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l<x<49d, Vx2-2x+1- Vx2-8x+ 16 2 7Its
® 2x-2 @ 2x+1 @2x—5
@ 3x-1 ® 3x+1
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Vx2—2x+1- Yx2-8x+ 16
= (x=-1)2= /(x—4)2
=|x—-1]—|x—4
=x—-14+x-4=2x-5




8l+x*=x*-81=x*-92=(x+9)(x-9)
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@2x+5 (@)x—3

@ 2x-5 ® 2x+3

o
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2x2 —x—15= (2x + 5)(x - 3)




@ ¥ +2x-8=(x+4)(x-2)

® 2x* +7x+3=(2x+1)(x+3)
@4x2—|—4x—15 = (x=3)(4x+5)

® x®—14x+49 = (x-7)?

@ 4x% 4 4x - 15 = (2x - 3)(2x + 5)




B¢~ 10x+m 9 & Q%7 3r-4 % 0], HE @ Q1L

© x-1 2)x-2 ® 2x-1
@ 3x-2 ® 2x-3

B

3x2—10x+m = (3x—4)(x +k)
=3x2 + (Bk—4)x — 4k
3k—4=-10 A k= -2
—4k=mO|EE m=28
3x2—10x +8 = (3x—4)(x - 2)
wrebA] oHE Ql4= x— 2 ot




8. &®b+2ab-2a-4, 2a%> +4a-2ab-4bE Q
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D a @ a+b @a—i—Z
@ a-b ® ab-2

B

tlo

o

a*b+2ab—2a-4 =ab(a+2)-2(a+2)
= (a+2)(ab-2)

2a® + 4a - 2ab — 4b = 2a(a+2) — 2b (a + 2)
=2(a+2)(a-b)

ro




9. A% ol stel u? + 6n—27 o 447} D W, o] A4E FohR?

@1 o1 06018 @ O

S5 ~
n%+6n—-27=(n+9)(n-3)

ojAo]l A7t HEW, n+ 9, n -3 Foll stihe 1 o] FHojof
gt

n-3<n+99B=2p-3=1
n=4,n>+6n-27=16+24-27=13




10. _I_?_O]i}-&‘l x2+ax—420,4x2+ax_b9"l
Aa, b a+b 2 @2 AHHE?

@D 2 @ 4 ® 6

@ 8

B

2 tax-4=(x-1)(x+p)
=x*+(p-1)x-p

p=4

p—-l=a .. a=3

45 +3x—b = (x—1)(4x +q)
=4x’>+ (g-4)x—q

-44+qg=3,q="T7

—g=-b

Lb=17

~a+b=10




11, o 8x?2 —14x+3 & AFEa SFAEY (ax+b)(cx+d) 7t = 3Act.
a+b+c+d o A2

O -8 @ -4 ® 0 @2 ® 6

8x? —14x+ 3 = (4x—1)(2x - 3) = (ax + b)(cx + d)
Lat+b+c+d=4-1+2-3=2
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O|ZFA X% + ax + b B A ot 2 x T AFE
B (x+4)(x-7) 2&2 QJAF4ES) ol S2 AT EX B
(x=2)(x-10) 2 &2 QI5Hal stglet. o] wl, a — b 9] 27
@ 10 @ 12 ®)16 @ 18 ® 20
B ~
Zro] E o] A2 (x+4)(x—7) O] B2 x2 - 3x—28 0|1,
x FO ASE AR Hepong AFpghe 98 ot}
go] &F o]ZAL (x-2)(x—10) O]E& x2 - 12x + 20 °] L,
Ao ZF Hokong x o] A4E ~12 o|th
a=-12, b=-28
a-b=-12-(-28) =16




14. t5of FolX =& o]-8ato] A& Al AAE 9] Hol&2 vret
S o AALP O 712 B AR Aot EH = A 1
1=m?
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D x+4 @)2x+1 ® 2x+3
@ 3x+2 ®)3x+4

41 =

6x2+11x+4 = (2x+1)(3x+ ,
1) o|B& Aol spmet
A2o] Aol 3x+4 9 ox+1 224!
o]t .

~-3p+4----""




15. FPAPAF O] Gol7F 2% 4 5x + 2 0|2l WO Zol7F 2x + 1 &

=o|=?
@x+2 @ x-2 ® 2x-1
@ x-1 ® x+1

2x2 +5x+2=(2x+1)(x +2)
m2bA] 0] x + 2 °]th




